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Financial Rations — Overview
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A Financial Ratio is concerned\

with connecting two amounts
from a company’s statement of
financial position, or statement of
profit or loss, or from both.

The purpose of financial ratios is
to understand company’s
operations, profitability, liquidity,
financial leverage, etc.

The use of financial ratios is also
referred to as financial ratio

analysis or ratio analysis. /
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Financial Rations — Benefits to Company

A4Sl dad gial) i) g8l o La - Allall ol

K Know its own ratios compared tc\

previous periods.

Know its planned ratios for current
and future periods.

Such knowledge may direct
management attention to areas that
need improvement or where
competitors are more successful.

Compare own ratios with averages
for industry in which the company
operates.

Even ratios of a specific company
@ industry. /
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Basic Financial Rations

Al A dlal) o)

Statement of Financial Position

Quick (Acid Test) Ratio
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Current Ratio
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Working Capital Ratio

Debt to Equity Ratio
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Debt to Total Assets Ratio
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Basic Financial Rations
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Statement of Profit or Loss

Gross Margin (gross profit %)
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Net Profit Margin
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Earnings Per Share (EPS)
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Return on Equity (ROE) Ratio
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Financial Rations

= Working capital is defined as the amount remaining after \
subtracting Current Liabilities from Current Assets.
Working . — .
Capital Working Capital = Current assets - Current Liabilities.
= Current Ratio = Current assets / Current Liabilities.
o current assets include cash and assets that are expected to turn
Current o
. to cash within one year.
Ratio
o current liabilities are the obligations that will be due within one
year.
= The larger the better, which also gives comfort when unexpected

\obligations arise. /
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Financial Rations

= But how much money is sufficient for this or that company, or this or

Working that industry?
Capital = Here are some factors to be considered:
Ratio o Type & size of business,

o Amount of sales on credit terms such as net 30 days.
o Composition of the current assets (cash is far different from
inventory)

Clé:::;t o Dates when the current liabilities must be paid (next week or 10
months from now)
o Financing arrangements (such as an approved and unused line
of credit)
\o Unexpected Emergencies. /
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Financial Rations

ﬂxample: FGH is a large manufacturing corporation, with 10,500,000 of\

current assets and 10,000,000 of current liabilities.
\cl:Vor_I:u:g o Working capital = current assets - current liabilities (10.5M — 10M) = 0.5 M
apita
Ratio o Working capital Ratio = (10,500,000/10,000,000) = 1.05 to 1 (1.05 : 1.00)
= Working capital of 500,000, or 1.05, is it too small for such a large
company?
Current
Ratio = |t all depends on the analysis of the components of the current assets and
current liabilities, credit terms, etc.
= On the other hand, if this manufacturer must carry a huge amount of
inventory of raw materials and finished products and the demand for the

products varies from month to month, the 500,000 may not be sufficient to
\:over its current obligations. /
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Financial Rations

Working
Capital
Ratio

Current
Ratio

ﬂnother Example: NOP is a small service firm with 40,000 of current asseh
and 34,000 of current liabilities.

o Working capital = current assets - current liabilities: =40 -34 =6 K
o Working capital Ratio = 40,000 / 34,000 = 1.18 to 1, (1.18 : 1.00)

= Since NOP is a service business, it is unlikely to have a large amount of

inventory of goods as part of its current assets

= Perhaps most of NOP’s current assets are in cash and accounts

receivable.

= Assuming these assumptions are correct, NOP might operate comfortably

with 6,000 of working capital.

= These 2 examples bring to light the difficulty in determining the ideal

analysis.

\amount of working capital needed by a specific business without thorough/
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Financial Rations

Quick (Acid
Test) Ratio

Kl'he Quick Ratio is commonly known as the Acid Test Ratio. \

= The Quick Ratio is more conservative than the current ratio as the amounts
of a company’s inventory and prepaid expenses are excluded

= |tis assumed that inventory and prepaid expenses cannot be turned into
cash quickly.

= As a result, only the company's "quick" assets consisting of cash, cash
equivalents, temporary investments, and accounts receivable are divided by
the total amount of the company’s current liabilities.

= Companies with high inventories (manufacturers, retailers, distributors), the
quick ratio is viewed as a better indicator (than the current ratio) of those
companies' ability to pay their obligations when they come due.

anin, it will still depend on the analysis of the current assets & Iiabilities./
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Financial Rations

4 A

In our previous example let’'s add the following assumptions:

FGH is a large manufacturing corporation: with 10,500,000 of current
assets (that include 2,300,000 inventory, and 1,200,000 prepaid
expenses, rest is cash & cash equivalents), and 10,000,000 of current

Quick (Acid liabilities.
Test) Ratio
o Quick (Acid Test) Ratio = cash & cash equivalents / current liabilities
o Quick (Acid Test) Ratio
o =17,000,000 or (10,500,000 - 2,300,000 - 1,200,2000) / 10,000,000)
o Quick (Acid Test) Ratio = 0.7 or 0.70 to 1 (0.7: 1)
AccBest™ =
17
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Financial Rations

ﬁ)ebt to Equity Ratio is an expression of: Total Liabilities to Total Shareholders’\
Equity.

= Debt = current liabilities + noncurrent (long-term) liabilities means (total

liabilities)
= Debt = Total Liabilities
Debt to = Debt to Equity Ratio = Total Liabilities / Total Stockholders’ Equity
Eq:j_'ty = Use of some debt as needed is considered wise due to the following:
atio
o Interest on debt is deductible from the taxable income.
o Generally, the cost of borrowed money (interest expense) is less than the cost of
having additional shares of stock.
o The corporation can acquire and control more assets without diluting its existing
stockholders' ownership interest.
= However, too much debt is risky because the corporation may not be able to obtain
additional loans to cover the cost of unexpected problems.
o
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Financial Rations

Debt to
Equity
Ratio

/Assume that FGH had 3,400,000 of current assets and 4,600,000 of \
noncurrent assets resulting in total assets of 8,000,000.

\Also look at the average ratios in industry & competitors.

FGH had current liabilities of 2,500,000 and 3,000,000 of noncurrent liabilities
resulting in total liabilities of 5,500,000.

Its total stockholders' equity was 2,200,000.

Debt to equity ratio = total liabilities / total stockholders' equity
Debt to equity ratio = 5,500,000/ 2,200,000
Debt to equity ratio =2.5 (2.5 to 1 or 2.5:1)

FGH debt to equity ratio of 2.5 indicates that it is using a large amount of
creditors' money in relation to its stockholders' money.

We would say the company is highly leveraged, creating a doubt in whether it
could borrow more money if needed.

_
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Financial Rations

4 A

= Assume that NOP Company, a small service firm, has the following:
= Current assets of 40,000; noncurrent assets of 70,000,
= Current liabilities of 25,000; noncurrent liabilities of 30,000;
Debt to
Equity = Total stockholders' equity of 65,000.
Ratio = Debt to equity ratio = total liabilities / total stockholders' equity
o Debt to equity ratio = 55,000 / 65,000
o Debt to equity ratio = 0.85 (0.85 to 1 or 0.85:1)
= NOP’s debt to equity ratio looks good in that it has used a lower amount of
creditors' money than the amount of its owner's money. /
AccBest" =
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Financial Rations

Debt to
Total
Assets

Ve

= The Debt to Total Assets Ratio is another indicator of the financial leverage
of the business.

= This ratio shows the percentage of a business's assets that have been
financed by debt / creditors.

= The remainder comes from the owners of the business.

= Generally, a lower ratio of debt to total assets is better indication, since it is
assumed that, relatively, less debt has less risk.

= Debt to total assets ratio is calculated by dividing a company's total amount
of liabilities by its total amount of assets. Here is the formula for the debt to

=

total assets ratio:

\-Debt to total assets = total liabilities / total assets

_
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Financial Rations

ﬂ:GH's most recent balance sheet reported total assets of 8,000,000 and total\
liabilities of 5,200,000.

= Debt to total assets = total liabilities / total assets
Debt to total assets = 5,200,000 / 8,000,000
Debt to total assets = 0.65 or 65% (or 0.65 to 1 or 0.65:1)

Debt to = This indicates that 65% of the cost of total assets reported on FGH's balance
Total sheet assets were financed by its lenders and other creditors. The remaining
Assets 35% were financed by FGH's stockholders.

= Ahigh debt to equity ratio is acceptable if the company operations are healthy
profits are being generated, and assets are in growth.

= Debt to assets for a start-up business is acceptable. However; debt to cover
losses for a declining company is risky.

= Accountant needs to dive deeply in the numbers and report to the senior
management accordingly.

27
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Financial Rations

4 h

= Gross Margin is the amount of net sales remaining after deduction of
the cost of goods sold

= Gross Margin is also expressed and known as Gross Profit % .

Gross Margin, = Net sales =
Gross Profit

Percentage o gross sales — sales discounts — sales returns — sales allowances.

= Cost of Goods Sold =
o The actual cost of the goods or services sold.

= Gross Profit =

o Gross “net” sales — Cost of Goods sold

_
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Financial Rations

/In year 2019, GFL had net sales of 8,750,000

= and it's cost of goods sold was 5,450,000.
= As aresult, GFL’s gross profit was 3,300,000.

= Gross margin percentage = gross profit / net sales

Gross Gross margin percentage = 3,300,000 / 8,750,000
Margin, Gross margin percentage = 0.38 or 38%
Gross

Profit % and/or if competition increased? How much margin is needed?

LIFO.

= At the time of rising prices (inflation) comparisons might mislead.

= Analysis: is the company able to increase selling prices in case the costs

= Comparison with industry: in the US some companies use FIFO, others use

=

= Under IFRS we must apply either FIFO or Weighted average .. LIFO is not
permitted under IFRS as we all know.

31
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Financial Rations

Profit
Margin
(Net Profit)

4 R

= Profit Margin is the Net Profit (after deduction of all expenses) to Net
Sales.

= Expenses to be deducted include:

o Cost of good sold (COS), selling, general & administrative
expenses (SG&A), interest expense, income tax expense.

= Some companies arrive at the profit margin before income tax, other
elect to arrive to it after income tax.

o Profit margin before tax = net income before tax / net sales

o Profit margin after tax = net income after tax / net sales

\ |
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Financial Rations

= Assume GFL made 5,520,000 of net “gross” sales (gross sales minus
sales discounts, returns and allowances).

= Expenses were as follows:

o cost of goods sold of 3,500,000; SG&A expenses of 1,500,000;
interest expense of 20,000; and income tax expense of 40,000.
Profit

Margin = Gross Margin = 2,020,000/ 5,520,000 = 37%

(Net Profit) = Profit Margin = 500,000 / 5,520,000 = 9% (before tax expense)
= Profit Margin = 460,000 / 5,520,000 = 7% (after tax expense)

= |s the 9% or 7% sufficient? You need to consider.......

o The profit margins in industry company is operating

o Comparison with previous years profit margins.
\o Projected profit margin for this year, or years to come, if any /
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Financial Rations

Earnings
Per Share
(EPS)

4 A

= Earning Per Share (EPS) is normally reported when a company is
publicly trading.

= |In which case (net income after tax) is divided over the number of
common shares to arrive at the Earning Per Share (EPS).

= |f a corporation has only common stock, (no preferred stock, no
securities convertible into common stock), and the corporation had the
same number of shares of common stock outstanding throughout the
entire accounting year, Earnings Per Share is equal to:

= Earnings Per Share (EPS) = Net Income (after tax) / number of
shares of common stock outstanding

\ |
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Financial Rations

Earnings
Per Share
(EPS)

/-GFL has common stock that is publicly traded.

stock outstanding throughout the entire year.

= |n this case the Earning Per Share is calculated in two steps:

dividend on the preferred stock

\of common stock outstanding

=

= Net income after tax was 420,000 and it had 100,000 shares of common
= GFL Earnings Per Share = 420,000 /100,000 shares = $ 4.2

= |et's assume that GFL has common and preferred stock, and there was
no change in the number of common shares outstanding during the year.

= Earnings available for common stock = net income after tax — required

= Earnings per share = earnings available for common stock / number of shares

_
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Financial Rations

ﬂ;FH has 100,000 shares of common stock outstanding and publicly traded\

= |n addition, GFH has 1,000 shares of preferred stock which requires an
annual dividend of 30,000. (The dividends on common and preferred stock
are not expenses of the corporation.)
= Assuming that XYZ's net income after tax was 420,000.
Earnings = Earnings available for common stock = 420,000 - 30,000 = 390,000
PEePrsShare = Earnings per share = 390,000/ 100,000 shares = $ 3.90
( ) = The calculations of earnings per share will be more complicated when any of
the following have occurred:
o Additional shares of common stock were issued during the year.
o The corporation purchased some of its shares of common stock during the
year.
o There are securities or financial instruments that are convertible into the
\ corporation's common stock. /
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